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Section 3.2 Complex numbers

{ Example 1 )

Solve the equation x2? + 25 = O.
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CExample 2 )

Solve the equation x? + 2x + 2 = 0.

{ Example 3 )

If z, =2 + 3i,z, =3 — 4iand z; = 1 + 5i, express each of the following
complex numbers in the form a + bi.
) z1+ z3 (i) z».zs3 (iii) z.(z2 + z3)
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Section 3.3 Division of complex numbers

 Example 1 )

3 + 4i

Write 5——

in the form a + bi.

{Example 2 )

Find x and y if x + 2 + 2(3 — 5yi) = 8 — 134.

X+ ¥ b - \Oyi =% - 131
(+1) + (2-1oy)i =G -13;

Re=fe Lix =8 3 x=2
\m=\w| g—’\od = —|2
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H Example 3 )

Given that (z + 1)(2 — i) = 3 — 4i,find z in the form x + yi, where x,y € R.

( Example 4 )

Express v5 + 12/ in the form of a + bi, where a, b € R.
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Section 3.4 Argand diagram — Modulus

{ Example1 )

Given that z; = 4 + i and z, = —2 + 2/, plot the following on an Argand diagram:
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